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GED)
& EEHh Bi XH ENseEE 5B th{E ZE| TR FTEH=E
(kg) (kg) (kg)
KB FE, B 10| #Bxt 14,000 1,620 1,188 756 H 15, 000
AS (=] 10|  #Bxt 10, 000 4,104 2,160 H 7,000
THITIES M B 4 MExt 44 000 1,944 324 H 30, 000
Hx Rk 10]  #Bxt 6, 000 1,728 A 5, 000
JK 3 I 0.2 #Bxt 1,700 65 H 1,500
N NES & 0.2 #Bxt 1,200 108 65 32 A 800
N NES I 0.2 #Bxt 6, 000 70 A 3, 000
TRy Eogal| 10|  #Bxt 13, 000 1,728 H 13, 000
FO5NAE & 0.2 #Bxt 1,000 140 108 54 H 800
o BE, ik 5 #xt 800 2,592 A 1,250
—2 L AR, T 0.1 ks 1,000 54 H 1,000
JOowval)— AL R, &BE 8| AExt 1,600 2,592 H 1,600
LA R TR 10 48t 5,000 2,484 A 5, 000
FoF YA TR 0.2 #Bxt 400 86 H 400
i AS HE. K 5 #Bxt 3, 000 1,782 A 3, 000
i AS HE. K 5| £= 1,500 1,728 A 1,500
EmF EE. 55 0.3 #Bxt 3, 000 184 H 4,000
E—<> =, BIE 0.15| #Hxt 3, 500 119 H 3, 000
HEE TR 5 #Bxt 2,000 1,512 H 1,000
EfHZE JtiEgE 10 A8t 10, 000 2,700 H 10, 000
£E¥ A4L, A3L B 100 1) 23,000 3, 564 324 # 10, 000
THEFE A4L, A3L B 12| 1) 45,220 3, 780 540 # 14, 400
E# tiEE 200  AExt 10, 000 3, 564 # 15, 000
IZAIZKL B 1 1) 1, 000 1,728 756 # 1, 000
EME =F 0.1 A5t 3, 000 86 # 2,100
TJFrAS A E¥. B 0.1 A5t 1, 500 97 # 1, 300
TJFHIAT A E®H. EH 0.1 £=& 40 92 # 30
BRSE 151, 680
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CED

2 EEHh Bi XH ENseEE 5B th{E ZE| TR FTEH=E
(kg) (kg) (kg)
NFF Bk, 24 UEY 13| #Ext 3, 400 3,780 # 390
fIEFH->R L = 0.25 Y 40 378 324 270 H# 40
fIEF->R M = 0.25 Y 40 324 302 248 H# 40
#fIFH->~R S =1 0.25 Y 10 302 248 194 H# 10
EbhEDH L = 0.25 +Y 50 356 324 302 H 50
EbhEDH M = 0.25 +Y 40 324 302 270 H 40
EbhEDH S = 0.25 +Y 10 270 238 216 H 10
LEY T AAhH 17| #Bxt 100 10, 800 H 150
Lo T AAhH 17| #Bxt 480 8, 640 H 300
SL—T2IL—Y L3 17)  #Bxt 120 6, 480 H 100

INA T 9T p PN = 10|  #Bxt 170 3, 456 H
RS 1,130
HBEst 152, 810




